Math 1113

Fall 2003 – Test 1

NAME_______________________________________________________

Directions: Show work and write clearly. Correct answers with only partial work may receive only partial credit. You may use a calculator on this part – explain how you used the calculator as part of your answer.

1. Evaluate the function 
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 at the indicated values:
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2. Find the inverse of 
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. Find the domain and range of the function and the inverse.

3. Given 
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4. Determine if the equations describe y as a function of x. Explain.
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5. Find the center and radius of the circle given by 
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6. Let 
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. Write f as a composition of three functions.

7. Find the x- and y-intercepts and test for symmetries:
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8. Suppose the graph of f is given below. Describe how the graphs of the following functions can be obtained from the graph of f:

a. 
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c. 
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9. Given 
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, find the average rate of change from x = a to x = a + h.
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